Cumulative Test Worksheet — Stats

Name }< = \/ Period

For problems 1 — 5, refer to Geist High School, which consists of 525 freshmen, 490 sophomores, 475
juniors, and 510 seniors. For the following problems, find each(theoreticaDprobability.
2006

1. P(not junior) - Y75 1. =~ 7.3 J/
1S2sS _
oo L7628
2. P(senior) o R 22655 /
(O
_5—,‘ = , D’?SS
2000
44 |
3. P(freshmansophomore) 3. =~ 5D.% /
525 Yao _ Jolis
+ — =
2006 2000 2006 2075
Muld-
4. P(junior,t@senior) 4. = Lol /
with replacement
475 510 . Q42250 _
2000 © 2000 Yomooe | 06056

or

\U

(2375)(.ass) L0L6SL

5. P(sophomore,(then junior) 5, ® 5./

without replacement

490 478 _ 232750
" Taaa T Taeo o = .05%23
2006 1999 3993060
oz
(aus)(.a37t) = .osea
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For problems 6 — 7, you roll a die. Find each theoretical probability.
AU )
6. P(odd number(ormultiple of 3) 6.8 lolo. 2 /

2ot
B G

i

-Z:_Cp
g4 o 2= [
Lo 2 Ll

7. mber@)()> 7. 2 b2/

- L'{ or 3‘ -
Lo G TG 2 ~ -6
8. A crate has 12 bottles of pop are 8. ~ L/ . S /

Pepsi, @ are Coca-Cola, are

Mountain Dew, and @ are Dr Pepper.

What is the probability of picking two Dr. Pepper
bottles from the crate, assuming you do

not return the first bottle?

é// ;2 < 2:/_> | - _

~

AR ~ oy
A N 22 >
y
9. Which of the following pairs are mutually 9. B . C anno+

exclusive? Select A or B. Explain.

be Lok,

A. Being a mother and a grandmother

Being a daughter and a son

10. Which of the following pairs are independent 10. A - One event does not
events? Select A or B. Explain.

AePu\:Q o +he pveviouc event
@ Picking two separate items out of a bag '

B. Picking an item out of a bag, replacing it,
and then picking another item out of the bag

11. 80% of the American population votes, 90% of 11. gS /
the American population reads, and 85% of the
American population votes and reads. What
percentage of the American population votes or
reads (P(votes ©Dreads))?

YO +a0 - &€
70 - ¥
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For problems 12 — 13, determine how many passwords are possible. Show work or receive no credit.

12. Two letters and six digits (0 — 9). Letters 12. (’T 8);2 5) O\)O OO

and digits cannot be repeated.

26 2% o-9.-%- 2-6-< =
or
246 po\ X lo pL.
Or—,‘gr mo4—ers
13. Four letters and four digits (0 — 9). The first 13. (&7 N : (9 O\ QOO

letter must be D, and the second letter must ’ ’
be H. Letters and digits can be repeated.

D H

— e D S—

) - 1 26-_AG - 16 -10-10- 10O

For questions 14 — 15, show work or receive no credit.

14. Mr. Geist wants to choose groups of 2 14. Q g) Co

students out of a class of 12 students. How
many groups of students can he pick?
No OVJQL—

2Ca + 12 C,

LG + 220 = 29(

15. How many ways can Mr. Adler pick 15. ! \ 3 2_ O
a president, vice-president, and secretary /
out of 12 students?

Orc{)ef
. 1o
P VP  Sec.
ov
D = 1320

2. 3
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. /V]_é SE A )
For questions 16 — 20, refer to the following box-and-whisker plot.
MiN Q‘ Q‘I_ Q? MA>

) . |
WZS/ AS /. =S 7. !

10 15 20 25 30 35 40 45
L0000 ]
16. Find the interquartile range of the data. 16. J 5
RT-20
17. What does the interquartile range tell you 17. 50 / o'r +he clagse ir

about the data?
Ee,—l—uec.,\ 20 g d 35

18. Find the range of the data. 18. 3 O
s -/1§

19. Find the median of the data. 19. 2 5-

20. What percent of data is between 25 and 357 20. ;2 S /

21. A set of data has a mean of 59% and a standard deviation of 5%.

A. Draw the normal curve for this distribution. Label the x-axis with the values that are
one, two, and three standard dev'ationf\from the mean.
- 1/_

b Yy yq4 SY 547 LY L1 Y

B. What percentage of the data has the B. l LO /

value of 64% or above?

2.8/ + 25 7

page 4 - WS — AA - U2C7SP



22.

23.

Below is a distribution of test scores from Mr. Geist’s differentiated chemistry class. Are the
scores positively skewed, negatively skewed, or normally distributed? Explain. Also explain how
the mean is affected by this distribution.

Explanation: NQjQ—lH/Q];/ S’(e_wej — O\ Skcw*ﬁJ {-(’7(\4
The ML ad n ¥01|ow5 -l—[/\z oudliev ... +he to. |

So +LQ WMEAIA 1 S vam”f‘r or |e~f+.

The salaries of teachers at a small rural school
are shown below.

. . >4
A. What is the mean, median, and mode A. Mean: 3 [p> OO
of the salaries?
Median: 4 3 {", DOO
Salaries of teachers at the school: Y
Standard deviation: // \ Lo 8"7
$28,000 $34,000 $36,000 '
$28,000 $34,000 $38,000
$28,000 $34,000 $70,000
$34,000
B. The local school board and teacher’s union are preparing to meet about pay raises. If you

were a teacher making the lowest salary, which of the following would you NOT use to
justify a pay raise: the mean or the median? Why?

Explanation: | weouwld not mendtton +he wedan becauce S+ i ¢

lowtw +L\6\v\ Jle Weain .

Odner J[U\.S—i—i‘rffto\-(-:\omf nre u/so OILCQID%»EI/(-

C. How would it impact the mean and the standard deviation if you removed the $70,000
salary? Explain.

Mean: | ooy +D—gg;2\[alﬂ7. The sudliev of j?O\Oob JS repmoved

ow\cﬂ i+ —Catc#or: ‘o -4—\ne a‘UtVaje S‘abm/,.

Standard deviation: LO"\JUI +o ‘g‘/Z\S;Z 2. Ii’\ue jf noty |ecr S',/_)Vfa&ﬂ

ﬁhJ fess VAriawce WAJUL-L -l—LE Q7OJDOO oudlier
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